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GSSSB Senior  Scientific Assistant Class - Il (Advt. No.

Question Paper (25-09-2021)| Series A

The wrea under velocity time graph gives -

(A)  Speed (B) Total distance travelled
(C)  Velocity (D) Acceleration
I The most uscless aggrogate is, whose surfoce (exture is -
{(A)  Smooth (B) Olossy
(€)Y Porous (D) Granular
3 As per ISL rolled steel I-section mre classified into -
(A) Five series (B) Four series
(C) Six series (D) Seven series
B The solvent used in cement paint is -
tA) Thinner (B) Turpenline
(C) Water (D) Spirit
5  Ratio of the unconfined compressive strength of undistributed soil 1o
remoulded sail is called -
(A) Sensitivity of soil (B) Relativity of soil
tC) Thixotropy (D) Bulk density
6 To perform the initial setting time 1est. the water is added 1o the cement
&l the rate of -
(A) 072P (B) 078 P
(C) 085P ) 095 P
7 ‘3lv wea’ Had gy A gadl su e g3 083 5] sy 7
(A) DeaGuulafl oy (B) wddl W
() AaBaudsz wr (D) el o{A suy
8 yudll awdldl sl deen ool Al @ad Yl qldalaigi-u sl 99%
wodl wqi wqddl 8 ?
tA) 32 bl (B) 34 Ix Al
(C) 36 b1 (D) 38 Bl
9 aqriqagi-l 54l ay yedlAl audlell waaa Geu (deaids Bael)A wuvn
UMISIMl wqellN & 7
(C) 0Oy (D) Oy
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10 A9 caldy Wasl o d4 R4
(a)  Midy sl ain (b Lasyly gias Pyes)
B 36 usli)l wda (2} sy [yesi)
5) fahw qia (1) g Pyeal
(g die (e wien Mleg) (4)  worasiel Pyeel
(A) (@03 (BT (2) (o(4)
W) L), B2 (di-4), (a)())
(C) (W20, (g3 e, (h)-(4)
(D) (di=3), apd1), (b)) (e3(2)
Il The commonly used cement in cement pamt s -
Y White cement (B} Ponland cement
(C) Alumina cement (D) Rapid hardening cement
2 A first class brick should hove a minimum erushing strength of -
W) 70 kglem? (B) 105 kg/cm®
(C) 125 kylem? () 140 kgiem?
13 Sessoning of timber -
(A} Increases the weight of timber
B) Improves sirength of timbey
(C) Does not give dimensional stability
(D) All the above
14  CGranite is an example of -
(A) Aqueous rocks (B)  Sedimentary rocks
(C)  Metamorphic rocks ¢D3  lgneous rocks
1S The maximum span / depth mto permisiible in cuse of simply supporied
RCC beam is
(A) 5 M) 10
(Cy 20 Dy 40
18 Reinforced coment concrete is equully strong in aking -
{A) Tensile and compressive stresscs
(B) Compressive and shear stresses
() Tensile, compressive and shear stresses
(D) Tensile nnd shear stresses
SSA{I?1)_A
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17 150l s svefiong wale e s aigsivi sude & ?
(A wiellyy widleg (B) W
(C) dud] ) dlaiqer

IR sl St WRot w2isel mardla il 4 Wi s an weudl.
A WaLRy e Y Al (B) Raaeaydaim wa,
(€1 aopvgidl e o, D) slewrydluie sl

19 Malent ANl swdefl et Al ARz audl sl
e e eldl Biadi ey wan du Gman dus | Wqaies-] ey wRudl.
(A} sAAty yeadl W8)  Aadus Boidl
(©) mafwua kAl (D) 5F -wirtiys

20 4l s Alw 2Rl wuin ol adly 54l duay s IR4G AN
siy| Yoey) ?
ehy famy: (B) g8
(C) ulasieR (D) [Eawayy

21 The critical hydraulic gradient of the seepage of water in a soil medium
15 -
Ay 1-G-1/1+e B) I~-1-G/| +e
KY I1=1+e7GyD (D) 421 +e?l -G

221 [he brick should be burmt at a temperature from -
(A)  30°C o S0D°C (B) S00°C wo 700°C
(C) 700°C 10 1000°C ¢D) 1000°C w 1200°C

23 When the druin 1s over the canul, the structure provided is known as -
(A)  Aqueduct (B) Super-passage
(€'} Canal siphon {3) Syphon agueduct

24 If the plain bars are used, the arca of distribution reinforcement in slab
should not be less than -
(A) D.12% of the gross urea of concrete
(B) 0.15% of the gross grca of concrete
(C) D0.18% of the gross area of concrete
(D) 0.21% of the gross arca of concrete

SSA(191)_A 4
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The lowey P of strictuse

2 which wansmit the load to the soil i1s known
‘A) m“‘!h m' "u"“ ’nm
) Hasenent

(1) Super structure
The most celigble estimaie |y -

AL Detalled estimate

(B) Preliminery estimate
(<)

Plimtt, arca cstimite (D) Cube rate cotimate

1 KS0m) ERAEl Gl
(A) RaniE g
Y Wi quaas

UL Redbgiiae] -ty rguel.
(B) G841 wday
(D) galvee $4

M &1t AL B A Pariunion sz iyl 1itley Mo wasiz

63 WM Hay el fave :qyy i ‘udlen’ 4 dlan mdd 4
A, & vl Al wid S Wiy ?

(A} slwm g swd

(B uilredl sy
(C) sus 3z fnas

(D) [Beuns wmqesy

S0 Rl i asies Uy Slarng il gdo (5,00, vl wRa)wy
ETLUTR

(A} uwm wivaldew (B) uw sl

() uw fswm (D) uw 2qifliam

A ulder Aasl dea A3 Wil

(@) vt 2Rl At YRMIg™IRnL (1) [en miuy

o iy 8. wpaday”

(o)  mafumini Qallsaeimn Nl adlisf 12y 4 dldl uma
My wila

(€)  Wslmen Mblgiar sed w2 yalay
Yaasin Hmgay

(d) et NI Seeel] By (4) W-ilug
dd gl slisaell eulaaz

#A) (d](1) (D)D), (e)-(2); (n)-(4)

(B) (b2}, (ad-(1), ()4 3), (e)-(d)

(C)  {eh=03), (d)(4), (n)(1), (b)-(2)

(D) (a)-2), (b)43), (d)-(1), (vi44)

(3)  sel [l
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31 Flow lines and equi-potential lines -
(A) Perpendicular 10 each other
(B) Paralle! 10 cach other
(€)  Intersecting at 90° to cach other
(I3} Non intersecting lines

A

.

B | "
32 The ratio of volume of voids to the total,volume of soil mass is called -
1‘"—. -
(A) Porosity Eﬁ] Water cement ratio

=)
(C)  Void ratio (D) Degree of saturation

33 Horizontal curve on the roud provides -
(A) Change in direction
(B) Change in the gradient of the )
() Both (A) and (B)
(13} None of the above

,1[):_Jg-tm‘1

| 4

34 Construction bricks are classified inlo -

(A) Two calegorics @} Three categonies
(') Four cdtegornies Efg} Five categories
i
35 An open cross stalf is commonly used fot sening out -
{A) Shorn offscts (B} Long offsets
) Oblique offsets (D) None of thz above

36  Which of the following is a type of non-modular outler ?
(A} Submerged pipe outlet
{B) Open-flume outlet
(C) Kennedy's gauge outlet
(D) All of the above

SSA(191)_A [
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3 PR U NS 1% mud A s sl pe W wagle sy @ el
U Asa 6 e B, o) el aam wid Wl wak T
(A} 3 e30b0 (M 3 6210

() 312,620 (D) 3. 1262

35 l‘tl"l'-ﬂ Gw An Mt Wikwva s3al 275 aell B8 a siie A+l Owe
RS sl wadl el vl s Mgl Gaa did .

(A} 30y @ (M) 50 ad

(Cy 40 gy .Z_' Dy &0 aw

="
L1 C TR asmfn-ﬂ &uﬂ;{amnt 100 [Heydlaiing ouo by, 85 Crsdl
AL s s T iaoual Paaisd 75wt s 70 W wal
b s AR Ny wna] e N

{(A) 15 (B 20
(Cj 25 - (D) 30

(sa]

» -
40 G232 MR % AN coop st Ustdl daan wi2 Gudlel B 7

tay  Den-sgiyilis waegan B) awsd] daeiw)
(€] midaugdly sy (0 sl Al

v

41 Flow index in soils indicmtes the -
(A} Ratio of liquid himit 1o plastic limit
(B)  Variation of liquidHmi
(€'Y Shear strength v.nr_ﬂzlun with water content
(D) Rate of Mlow of wér through soil

o
42 The degree of grinding of cement is called -
(A1 Soundness 1B) Fincness
{Cy Bulking ot (D Creep

(o)
A3 The angle between the -hack tengent and forward tangent of a curve is

known as - =
(A} Deflection angle = (B} Central angle
(Cy  Angle of intersection (D) None of the above

SSAV191)_A 7
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A dingonal scale is used to read dimenslons,
{A) One (H) Two
{C)  Three (12) Four

For piping phenomenon 10 aceur In the soils, ihe most important condition

to be satisfied is thal the -
#A)  Specific gravity of soil sollds is more than 2,75

(H) Void e is more than | B
(C) Hydrmulic gradient is nearly umity
() Soil is fine grained

The maximum frictional force, which comes into play, when o body just
begins 1o slide over the surface of the other body, is known as -
(1) Dynamic [ricuon

(A) Satic friction
¢D) Coefficient of fnction

(Cy Limiting friction

52y q2qd-l ws CANY Y v g 8!
(A) Conmlner Arca Network (B) Campus Area Network

(C) Commercial Area Network (D) Class Area Nerwork

sagzaul il et il 4 (Shruti) Sl sl waRAedl MEn

48
18’
(A) ASCH (B) EBCDIC
(C) ANSI (D) Unicode
49 sygzanl CD ol szal w2 Adidl su dleed Wauned Gudy s
usiy 8 7
(A) Data Burner (B) Express Wriler
(C) Nero (D) CD Bum
so  wudEal Rl alf ol e lam s B 7
(A) 2 (B) alfadl
() #ia M) pvaz
]
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S) The strongth of concrete s -
(A} Birectly proportional w wic fugio
(A Teversely propomional i wie ratho

) Does not hive any reliition With water
(D) None of the abdve

52 The manimum bending moment of a cantilever beam fies af -

(A) The free end (B) 14 from few e
iC) The fixed end (D) Middie of W's feagth

3 The resubtant of two equal lorees acting (n opposite direction will be -
(A) Zero (B) 2+F

-

() 0.707 ¢ (D 144 F

S Curve of varying radius 1s ktjown as -
(A) Simple curve
(B) Tramsition curye
() Compound curve

o)) Reverse curve

55 Whale circle bearing of a line is 330° 30° What is the Vilue i tenms of

quadrantal beanng * W
(A} N29° 30" W By N1SE W w4
() S 60° M W (D None of the above s

56 The angle between two forces when the resultant is maximum and
minimum respectively are -

WA) 0F and |80° (B)  180° and (®
(Chy 90° and 180° (D) WP and (@

SSA(191)_A v
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57 (il »vARs faemui Ml 6150 vuadl 614 Riqsumi 54 8 7
(A} LINUX £ #) MASTER &l
() SUPER 4] (D) SPECIAL 8l

S8 MS Word Ml Sludey e © Gz 2 58 diész A0 Gud>r sra

i & 7
tA) Curl + A+ C 8y Ctr] + Shift + C
(C) Cirl « Tab « C iD) Alt + Shiht 4+ C

59  MS Excel Ml Wia avial 312 &4 Pual Gudls) saqd wd B ?
(A) v @) A
(C) < (Dy =

60 ouadly SuMEEAL s Puu sl Yeraneu Malisz W8l wastded
ausylen 21 ool waifld 18 9 s wudl 7

(A) 47 ¥l yud ¢B) 61 i Yl
(C) 32 Wl yud (D) 574l yual
61 Function of aggregates in concrete is 10 serve as -
(A) Catalyst (By Filler
(C) Binding mutenial tD) All of the above

62 A plane which is not subjected to shear siress |s known as -
(A) Simple planc (B) Principal plane
(C) Compound plane (D) Non shear plane

63 The unnt of micron. is

(A) 107 m (B) 106 m
() 10°%m D 1012y
SSA (191)_A 10
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Actarding 1T AD all markiog oo the rewway are painted white and o

BaRtwuy i -
(A} Bask ) Yellow
(Cy. Red (D) Cireen

The convexity provided {n the canringoway between the crown and edge
of the pavement is known as

(A} Super elevation ) Coambes
€1 Heghe of pavement (D) None of the above
The renistance of an aggregile 10 wear is known s -

(A} Shear valus (B) Crushing value
W) Abrision value (D} Impact value

ety AR s 2l s ol Guan sl yE sl Raad
Rl wide 8 7

(A} sy - 25)
(8] =ufisy - 287
(C) wufiss - 278
(D) wlRuvi w usal S0 fMoad saqmd wide =d)

(Urxdat et = ) ot [Rreaeisl o ol uedfos ... 8.
(el f < 1)

(A} »n By n=+2

Wy m- Dy mn+1

¥ x, p, 2 Bt 2ot aialas by, dl o7+ 42 €922 - gy - 3z - 2oy WA

....... iy,

(A) =% (B) »w

) 0 (D) Ws dwy

Ysin® x = Tsing+2=01 [0, 52 % Ghall dvd o 8.
(A) 0 By §

() 6 (D) 10
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T Failure of reinforced concrete beam oceurs when cORSrEe strain - in
compreasion reaches -
#A) 00625 (B) 0.0030

(€1 00035 (D) 0.0040

71 Advantage of reinforced concrete, is due to -
(a‘\s_- Meonolithic charncter
l‘B:ig Fire resisting and durability
(CJE— Moulding [n any desired shape
l'_Di*- All of the above

73 Longer face of u brick is called -

l.'ﬂ;; Header ¢(B)  Stretcher
{@ Frog {D) Bal

—
T

74 IThé main constituent of a Portland cemen is -
et
¢#A1 Lime i Alumuna

(C)  Iron oxide (D) Alkalies

—_—

e
75  Roughness index of rouds is expressed as -
{ ;ﬁi Size of stone on the pavement
(B3 Number of patches on the pavement
(C) Types of the road surface
(D) Cumulsative deformation of surface per horizontal distance

76 TE& presence of tricalcium silicite in cement -
(A} Hydrates the cement rapidly
133 Generntes |ess heat of hydration
( (;‘,: Offers high resistance to sulphate attack
gy All of the above

SSA (191)_A 12
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TR . 3

MA eyt md Ve gty ud aiMy WS
e,

Ay 0O 1L

cy 2

( (D) GuOs S Sisve <
61 TLe 816+ 100 A) susil M —

(A} 4 T

()

-y 8

UGEHME MI2 WS Nl A &mi{ﬂt 53,
wlesl st way - l

ey

(A} Neaq W) ez
(€ Haw (D) Yoidis
w5l wsi Faseynil sl

FEERTL IR TR o

(A} 4Ms ;ﬂi‘-] AalLlusl
(C) Gea Dy

The rivets which are driven W atmospheric tempemture, dre known as -

(A} Hand driven nivets = (B Cold driven rivets

(€} Power driven shap rivets [,:;fm; Power driven field nivels

Live load on strueture -

191040

(A} Varies in magaiude
(B} Varies i position
(C) Is expressed as uniformly distributed load
Ay Al of the above 0

.

.

The amounst of reinforcement for mén burs in a &lab. is based on -

¢A) Maximum bending moment 1 (B)  Minimum bending moment
(C'y  Maximum shenr force ~ D) Minimum shear force

SSA (191)_A n
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M The pProcess of passing water through beds Ofl'l‘lﬁuh'll' materinls, is known

g -
(B) Filttion

(A) Screening
‘DI MNone of the above

&) Sedimentation

85 Encrgy equation is usually applicable © -
(A) Laminar flow (B)
(C) Steady flow )

Turbulemt flow

Non uniform Now

B5  The slab which directly rest on columns without the aid of any beam are

known as «

(A} Two way slab ¢B) Flat slab

(C) Ribbed slab (D) One way slab
57 uifacusiz 32 dlnd- g weudl

W) eell (B) #la 34

fC) =RIA1 (D) Mg £
88 <l wile Psednind sl Wl wivl.

FA)  yusw (B) [Hufspudl

(C) syl (D) widlaidls

89 4 sl qusu-l sqdydlaai el Rsey WY

yuidl wi wd
(A) unifldl 43| yuy 8 (B) quifld]l 43| yus
(C) 4uidl w4 (D) wuiflal wil yuy

90  MOEAMR MiZ By meeq) W) [Asey viE 43
Wyl 2t 53 waa M2 Az ud hug d -

(A) dwausl @) mlyd
(C) ¥y (D) slulis
SSA(191)_A 14
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91 The critical activity hay - |
(A) Maximum Nogt (8)  Minimum flom
K'Y Zero Noay (D) None of the above
9 In case of mul lane roads, overtaking is generally permitted -
(A)  From lefy
(B) From right
'} From both sides right and left
(D) None of the above
93 The full width of land wcquired before finalising a highway alignment is
known as -
(A) Carriage way (B) Right of way —_
C)  Widih of formation (D) Roadway
M IfPis the wind pressure in kg/em?, v is the velocity in km/hour and K is
& constant of proportionality. then
(A) P=K /2 (B) P=K-y2
(€) v=K¢p2 D) P=K-y
93 Design of R.C.C. cantilever beam, is based on the resultant force at -
(A) Fixed end
(B) Free end
(C) Mid span
D} Mid spun and fixed suppon
96  Bearing capacily of soil depends upon -
(AY Gl s (B) Size of footing
(C) Shape of footing W) All of the above
SSA (191) A 15
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97 Al Sl dnve useq (e gy Ruseus(dl Wil -

‘andl ¥y’
tA) wausedIHidl w2aq (B) isthe U 'ﬂ
(€) welid [uy wg o (D) ~tivde 53 29

98 I wle Iuifsd weell d€arl usiz weudl.
Hel gL vz ' sl ?
(A) QdMigia ) oeilamged
(C) Oasid (D) [awdsed

9 sl use weyal,

ll_la%'i
CYERTUEY (B) almg
(C) s s3d] (D) uwieg

100 JRWGR wd gl

aiél sedl
(A1 aisd Galadl (B) (GYein « 539)
() @l doqd] D) Hans sadl

101 Duich bond is 2 modification of -

i*\1  Enghlish bond (B) Header bond

(C) Swercher bond (D)  Flemish bond

102 The commonly used rain gauge is -
#A) Weighing bucket type (B)

Tipping bucket type
{C) Floal type

(D) None of the abave

103 The amount of water required 10

\ fill up the pore spaces in soil particles
by replacing all air held i pore

spaces, is known as -

(A) Ficld capacity ¢B)  Saturation capacity

(C) Available moisture D) All of the above

SSA (191)_A 16
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104 The ¢ g
o u?tﬂ‘l.uenl. OF restitution for inelastic bodles is -
Lew B
(€Y Between et and ane o o

D) More than one

105 The thiee forces o

. 100 N, 200 N and 300 N have their lines of action
¢h other b act

These forces are known as . in the opposite directions.
{M C:nplme;r concurrent forces (B) Coplaner non-concurrent forces
(C) Like Paralle] forces

(D) Unlike parallel forces

106 The neutral stress on the soil is due to the -

€A} External load acting on the soil
(B) Weight of the soil particles

(C)  Weight of water present in the soll

pores
(D) None of the shove

107 AR sl ausye) oy sdliudle] wyud)

MMl Wt aisar ol walg .
(A) MY WA @i oqed] wil.

(B) MY Wi alqaiy] el wmy 3.
€)M Wt wiaan] ol wdl udl.

(D) MAYM WA diqai] ol Wl -1dld).

108 08 sulte quend) Mg o).

M Wl A4 olews ¥ § st Gosiz A 5] wsd
8) (C) mA (D) sy

(By 3
(C) ust (D) o
109 sug ik (sRusie ada Avsigaud) dau dlvy sue sy 4 LU
(A) tadg (B) sfuaig
() dlmag (D) Rewaig

10 wufie qusumidll Wiz wesciy ¥l Pseqnind o wey g
e e o1y sl weL g Qi ?

(A) i (B) 4
©) (A) A (B) %A (D) A
SSA(191)_ A 17
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i {‘hhﬂﬂ.“““ ofl waler '3 m for lh' m\'ll l'lr >
tA)  Ractoria (B)  Sediments

() Hardness (D) Suspended solids

112 The dilference between the time available to do the job and the time
weguired 1o do the job is known as -

(AT Event ¢i3)  Duration
e

) Floar a (D) Constraint
S

s |

113 Hydrology is a science wh?dh deals with -

-

N

(A1 Rain water N
8! Surface and underground water
(C}  Sea waler

(D) River water 'x:
)
==
o

14 The round-about are nol ﬁrnble i number of velcles exceed -

€ A 2000 ! (B) 3000
() 4000 {1y 5000

1S Viear's apparntus is used W perform -

(A) Fineness test é’
(B) Soundness test :‘f'
n

W) Consistency test

(D) Compreasive sirengih test

=
116 Water content in soil at \@’rch shear strength just develops is called -
e

(A} Liguid fimit b (B} Plastic limit
o g =
¢C)  Elustic Limit -, 1) Shrinkage limit
SSA (191)_A o8
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117 SN WIS Wl ey enlan) gy ﬁuq\

(A Bs, sB, wdieim, siyad) .IIHI slawidl, sZieim, shg, Bwis
(W) sl s, sluwid), s ;m tainim, sPauidl, amis, s

B AR S sdaad) wisg sdaydl fysey aINL,
Rl W] iefl-dl 52

EA) ML e wisiasl i Al v - 5N

(B) AUD s213 1 wqud simari wig ¥
() HRA dad)l awd 4 ai iy

M) I SN 53S0 wal sl siad]

119 widl Wasl v,

i
(A} YMig AB) -y
€y s _;'1"11} il

120 {3 sUle wist qusya Wal dloy qus‘t ETU U
B 2oll . 53] wouy 33r oedl Wil !ll-il @12l S od] Bl -,

(A) dl, b)) L, ua
(C) oMl .. .l (D) wimgy, Wiz
'__,f‘
121 The comtinuous strain, which the com.:gl_s. undergoes due 1 application of
external loads, is called - =
(A} Workability ;(B} Bleeding
(C)  Sepregation ¥ Creep
122 The gap or margin of heigh, between full supply level (F.S.1.) and top of
the bank is called -
tA) Free board (B) Dowel
(C)  Inspection roadway (D) Berm

123 The fineness modulus of an aggregole is roughly proportional 1o -

(A} Specifiv gravity of the aggregute

(B) Shape of the aggremite

(C) Average size of particles in the aggregole
¢D) Grading of the aggrepate

SSA (191)_A 19
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124 Whewnover & force acts on & body and the body undergoes @ displacement,
then
M) Work is said 0 be done
(B) Power is being transmitied
(C)  Body has kinctic energy of translation
(DY None of these

125  Water displaced by a floating wooden block of density 0.75 and size 5 m
long, 2 m wide and 3 m high, is
¢A) 175 m’ (B) 22.5 m?
©) 28 m? (D) 17.5 km?

126 Main object of providing a camber is -
(A) To make the rond surface impervious
(B) To make the road surface durable
iC) To drain off the rain water from road surface, ns quickly as possible
@) All of the above

127 A4 enide plawl U 59 gl s lladsdl 4l ?
(A)  Mdoig (B) uf-l wda
(€)M aid amy fD) ued Y3

128 A& sule wvedl wel il use wrudl.

GelN
(A) ulle #B) MR
(C) =uwal (D) =™y

129 Find out the correct sentence from the following :
{A) Don't go unless he invites you,
(B) Doesn't go unless he invite you.
#C) Don't go unless he dosen't invite you.
(D) Won't go unless he doesn't invite you.

130 Arrange the jumbled parts to make a meaningful sentence :
v the pew / you peed to / instrument / work carefully with.
2

| 2 3 4
(A) 1.32,4 (B) 2.1,4.3
(C) 3.4.1.2 (D) 2,4,1,3
SSA (191)_A L
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canire of gran .
e ‘“l‘c OEraniy of a flﬂ_hl cirgular srlid cane s ol 8 divtance il
from s base

(A W2

Jiy ko
iCy hid

(I e

Crop mbio i the rato of aneg irtigated
(A In Rabw season 10 Kharll season
(B} o Khant senson 1o Rahi senson
® Under perenninl crop 1o yonal ¢

t)) Under perenmial crop to non-perenaial crop

Rail sechion Ix generally designated by s -

(A} Total weight (B1 Weight per metre length

(C) Total length H)) Aren of |ty cross seclion

The effective length of a column, held in position at both ends bul not
restrained in direction, is equal 10 -

(AY 0.67 L (By ORSL
Wy L iy 1510

Taylor's stubiline number vurves are used for the anulysis of slopes.
The angle of shearing resistance used in the chan s

||||||||||

{A) Mobilised angle By Fiective nngle
(C)  Apparent angle () Weighted angle

Best primer used for structural steel work 15 -
(A) White lead (B Red lead
&) Fane oxide (2 lron oxide

Find the semence with correct use of the underlined word from the
following

(A] Sinee he worked round the clock, he got suceess,
(B) Though Raju ran fosi, he can got suceess 10 win the race
(C) Unless vou works hord, you could gel success,

(D) The doctors wied hard, but they could gel sugeess 1o save the
patient.

SSA (191)_A 21 |
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IR Find abstract noun of the following word from the oplions given.

g

(A} seiruie (B) seizarian

OV seizare (DY wizure
139 The word *instant’ Means :

LAY Movement )  Exact

(€1 With in no time (D) Constant
140

Choose the correct option,

¢ I like o argue for truth and justice, | connot bear injustice.

| have 1o work with police and criminals. Whe um 17
tA) Soldier

(B) Advocate
(C) Salesman (D) Writer
141 The concrete in whi;h preliminary igni
miunary tesis are performed £
concrele mix is called - " € ik
(A) Rich concrete #B) Lean concrete
(C) Contrulled concrote (D) Ordinary concrete
142 When the water table is close to
ground surface, the beari i
a soll reduced 10 ... o
fA) One halfl tB) One fourth
(C) Two founh (D) Three fourth
143 The coefficient of compressibility ..., with increase in the pressure
-M:I Increases B) Decreases
(C) Docs not chenge (D) Uncenain
144 The coefficiem of act i
g ve earth pressure for cohesionless granular soils is
i-sing
i-sne 1+
o I+sme (B) | :q,
. l+sing
) 1-sing 2 ‘I:Z:
SSA (191)_A 2
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145 For broad pvuge track in India. the maximum height of @ loaded ¢

Wilgom 1
WAY 3 S0 (By 472 m
(CYy 520 m (M SK0m

146 The sofl transponed by running wiiter is called -

(A} Acolinn soll
{(CY Marine soil

@) Alluvial soll
(1) Lacustrine soil

L 147 Change the vorce

India could have won the last World cup.
(A)  The last World cup could win Indin

(B) The last World cup could have been won by Indin.
(C) The last World cup could be won by India

(D) TIndia won the last World cup.

148 Find the adverb in the following semience :
If you walk backwnrds, you may trip and fall.
A)  backwards
© I

(B) may
(D) fall

149 Fill in the Blunk -

He showed ... ... mercy to the vanquished and killed them,
tA) a hlittle (B} the litle
(C) hivtle (D) u few

150 Fill in the blank :

Could you bring me a glass of water 7 | am really ..

(A) funny (B) boring
(C)  excited tD) thirsty
SSA(191)_A
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